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%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The average of 5Q numbers was 60. Later it is found that a number 76 is
wrongly written as 67. Find the correct average.
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Wb// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321
A sum of money three times itséif in 40 ye%s at Simple Interest. Find the rate of

interest.
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méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The compound interest on a certain sum for 2 years @% per annum is Rs.
792. Find the simple interest If sum, rate, and time remain the same.
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@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A maximum length of a pencil that can be kept in a rectangular box of
dimensions 8cm x 6 cm x 2 cm, IS
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@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

In an elegtion, two candidates have participated. 20% of voters_did not cast their
vutes re declared as invalid. If the winner gn:u of the valid votes and

won by 23040 votes, therl/fiﬂr:ir'uf_\gl.fg_man}|r voters are théere in the voting list?
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@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Two taps A and B can fill an empty tank in 7 hours and 6 hours respectively. if
the taps are opened every alternate hour starting with A then in how much time

the tank will be filled?
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The difference between the simple interest and compound interest for two years
on Rs. 15000 at a certain rate of interest is Rs. 96. Find the rate of interest.
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/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

If Punit purchased goods of Rnd sold 1/3 of it at a loss of 10%, then
what should be the gain percentage on the remaining items that should be sold

so as to gain 20% on the whole transaction?
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Find x, @x’n of 63 @@ of 72 @w’a of X2 + 8
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@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

To cover a distance of 60 kilometers, Aamir takes 4 hours more than Salman. If
Aamir doubles his speed, he will take 2 hours less than Salman. Find the speed
of Amir.
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@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A motorboat cover 105 Km in 7 hr along the stream. Due to some technical
problem, the time taken to cover the same distance against the stream is three
times the time taken to cover the same distance in downstream. By what

percent did the speed of the boat in still water reduces if the speed of the
stream is 3km/hr?
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@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

X M A, B and C can do 1/4™ of work in 15 days. After working with B and C for 24
00 days, A left the work. B and C continued to work and took 48 more days to

0—6— complete the remaining work. Find in how many days A will complete the whole

work working alone?
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Find the total number of factors of '900".
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a) °

b) 27
C) 18
d) s




